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Uli _, j_] := ReplacePart [IdentityMatrix[3], {
{i,i}—)l, {i,j}—)O.
{Ja I}_)l_tji {Jll}_’tl

url, 2101;; 2, 1;; 21 // MatrixForm
1 0

(142 tl)

Matri xForm /e Sinplify /e {U[l, 2].Url, 3].U[2, 3], U[2, 3].U[1, 3].U[1, 2]}
1 0 0 1 0 0

{[142 t, o |, |1-t, t, 0 }
l—t3 —tl(—1+t3) tltz 1—t3 —tl(—l+t3) t1t2

Ei gensystem[U[1, 2101 ;; 2, 1;; 211
1-t,4

(o {25 ) 0]

Ei gensystem[U[1, 21[1;; 2, 1;; 2] // Transpose]
—1+t2
)

Inverse[(l_otl 10 )].(11 0).(1_t1 0 // Sinplify // MatrixForm

~t, “t, t, 0 1-t,
1 0
(141 tl)

VIIi , ] _]1 := ReplacePart [l dentityMatrix[3], {
{i,i1}y-1, {i,]}y-0,
{j! i}—)l—X, {J!J}_)tl

{1ty {an0n |-

—1+t1

}
VI1, 2101;; 2, 1;; 2] // MatrixForm
1 0
(1—X tl)
Matri xForm /e Sinplify /e {V[1, 2].VI[1, 3].V[2, 31, V[2, 3].V[1, 3].VI[1, 2]}
1 0 0 1 0 0
{ 1-x t, o | 1-x t, 0 }
1-x -(-1+x)tyq tqt, (-1+X) (-1+x-ty) - (-1+x)tq tqty

Ei genval ues[V[1, 2101 ;; 2, 1;; 211
{11 tl}

Solve[l-X == (-1+X) (-1l+x-ts), X]
{({x->1}, {X->tz}}
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Uli _, j_] := ReplacePart [IdentityMatrix[3], {
{i,1y-1 {i,]}>0,
G,iyol-ati-Bt;, {,]}~t

}]

url, 2101;; 2, 1;; 21 // MatrixForm

( 1 0

l-at;-Bt, t4

Matri xForm /e Sinplify /e {U[l, 21.U[1, 3].U[2, 31, Ur2, 31.U[1, 3].U[1, 21}

1 0 0
{[l—o(tl—/?)tz tl 0 y
l—O(tl—Btg —tl(—1+0[t2+/3t3) tltz

1 0 0
{ 1—O(t1—/3t2 t]_ 0 }
—t2(—1+O(t1+/3t3>+(—l+O(tl+Bt2) (—1+O(t2+6t3) —tl(—l+O(t2+Bt3> tltz
Ei genval ues[U[1, 2]1[1;; 2, 1;; 211

{11 tl}
Sol veAl ways [

l-at;-Btz===-ty (-l+at +Bt3) + (-l+at;+Bty) (-l+at+Bt3), {ti, ty ts3}]
{{a->0, B>1}, {a—>1, B3->0}}
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